
6 Rovnice so separovatel’nými premennými

Riešte začiatočnú úlohu a nájdite definičný obor riešenia.

1. x′ = tx, x(0) = 1,
2. x′ = tx2, x(0) = 0,
3. x′ = tx2, x(0) = 1,
4. x′ = tx−2, x(0) = 1,
5. x′ = x2 − 1, x(0) = 1

2 ,

6. x′ = sin t(x2 − 1), x(0) = 1
2 ,

7. x′ = x2 − 1, x(0) = 3
2 ,

8. x′ = 1
xt , x(1) = 1,

9. x′ = 1+t
x−1 , x(0) = 2,

10. x′ = x ln x, x(t0) = x0,

11. x′ = 1+x2

x t, x(1) = 1.

Výsledky.
1. x(t) = exp

(
t2

2

)
t ∈ R

2. x(t) = 0 t ∈ R

3. x(t) = − 2
t2−2 t ∈ (−√2,

√
2)

4. x(t) =
√

[3] 32 t2 + 1 t ∈ R

5. x(t) = 3−e2t

3+e2t t ∈ R

6. x(t) = 3−e2−2 cos t

3+e2−2 cos t t ∈ R

7. x(t) = 5+exp 2t
5−exp 2t t ∈ (−∞, ln

√
5)

8. x(t) =
√

1 + 2 ln t t ∈ (0,∞)
9. x(t) = 2 + t t ∈ (−1,∞)

10. x(t) = ee(t−t0) ln x0 t ∈ R

11. x(t) =
√

2e(t2−1) − 1 t ∈ (
√

1− ln 2,∞)

1


